PRACOVNÍ LIST
1. [bookmark: _GoBack]Vypočítej

5 – 9 =				6 – 13 =
(-5) – 7 =				- 4 – 10 =
12 – 20 =				(- 8) – 7 =
- 3 – 7 =				8 – 16 =
6 – (-7) =				3 – (-12) =
(-3) – (-3) =				-10 – (-5) =
9 – (-7) =				- 4 – 13 =
(-11) – 14 =				13 – 26 =
6 – 14 =				- 9 – 13 =
7 – (- 8) =				-3 – (-8) =

26 – 52 =				-17 – 36 =
-29 – 42 = 				36 – 58 =
41 – 72 =				82 – 134 =
67 – 134 =				231 – 540 =
-62 – 75 =				-38 – 67 =
- 86 – 103 =				- 78 – 321 =

69 – (-45) =				75 – (-57) =
159 – (-85) =			234 – (-147) =
302 – (-245) =			245 – (-347) =
-46 – (-62) =				-68 – (-84) =
- 87 – (-63) =			- 74 – (-62)=
-136 – (-203) =			-145 – (-214) =
